ALS 5 40 | 4@D | Pan (250 72 | 3500 | 280 -16 200 | 33.000| 7 :
: P(189) 250 120 | 14.000 250 — 120 — — | Push-pull classe AB
4 BMI1 3 46 | 400,3) 1 250 01 | 2MmQ 250 0-5 S i =
amz [ 3 52 | 4(0,32) il omali e B D 250 0-6 — | 253000 | 2
RZ1 | 22+ 81 | 4a) | R |40 78 e -2 o LR — | 500V max. (60 mA)
BZ4 2-0% 31 4(2,3) i R 5400 150 — | —_ — — — — | 500 V max. (120 mA)
AZ11 2-2% 146 | 4(1,1) R 500, 60 — e — — = —
"’ X oy | R | 300|100 i = — — — —
L Eziz P2 [ 18] 4@y | = |so0] 120 ] it 55 o =5 &
i | R |30 200  — = — e —
A409 % 2 | 4(0,068)|  BF ‘ 15U on BRI e 9 A ‘ 10.000 | 0,9 |
A410 3% 2 | 40,008) | BF | 180| 38 e £ -3 o5 l 20.000 | 0,5 :
E414K | 3+ 2 | 4008) | BF | 150 4 — NS 45 — | "7.000 | 1,5 | Ansimicrophoniqus
A415 3% 2 | 4(0,085)| BF | 150/ 4 ey 4 10000 15 i
B425 3* 2 | 4(0,06) BF | 200{ 0,25 | 0,3MQj it 2,5 = 20.000 | 1,2
[ oBE viisen) o o o) fRdtD 25 w ik i
AMIN | 4 9 | 4008 | c |10] 4 = 4 0 - e e
A442 4% 5 | 4(0,06) HF | 200| 4 — -1 — | oame| oz
B217 3% 2 | 201y | BF | 180] 4,5 = ; = 28 B
B228 3% 2. | 20,1 ! BF  |1s0| 2 S = 2 — | 23000 | 12
B240 33+ | 22 | 202 : P(1) | 150/ 3 14.oooji £ 0 = e M ol



